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A brief cut flow in 1 lepton Channel

Standard HSG1 cut 34%

llepton, at least 2jets 2.9%

Number of b jets < 2

IMjj - MW |<20GeV 1.5%
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Some result after using ADP method »remeswar
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Compare to the result of 2lepton Channel
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A brief cut flow of 2 lepton channel

effiency Number 500000 in total

Standard HSG1 cut 169135
2lepton 0.6% 3088

MET > 20 GeV 2551

IM,-M, |>10GeV &M,>10GeV  0.45% 2245




Higgs MT of 2 lepton Channel
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Dumper again

» The efficiency is too low on lepton

» Maybe we can loose the cut on muon and electon

el n h lep n
htemp 10" h_lep_n

- Entries 10000 = Entries 274930
700 — Mean 1203 | 220 — Mean 0.1844

- RMS 6.942 -

= - RMS 0.436
600 — C

I 180 —
500 — 180 —

- 140
400 — -

C 120 —
300 — 100

E BD
200 ; 50—
100 - WE

T 20

00||‘|1‘0“||2|0““3|0‘|‘40 LHéoJl_‘JBBIL‘J;O‘I‘IBOL‘ u:lllllllllllllllllll_|_|_|_|_|_|_|_|_|_|IIIIIIIII|IIIIIIIII
05 1 15 2 25 3 a5 4 45 5

el_n



	Work status 
	A brief cut flow in 1 lepton Channel
	Some result after using ADP method 
	Compare to the result of 2lepton Channel
	A brief cut flow of 2 lepton channel 
	Higgs MT of 2 lepton Channel
	Dumper again

